
Diese En 8

4
.
3. Maigria pinferikor atpoisatos

A :Nivakas narpopcor con
I

Lo nivenes naugrpor for I ta avai o -Al

-minmat

ODa

i 2 = Va
->Mexmin G 2 2

*

3 d

& 37

V2 = 3

Opispos
H maxmin Mongupin Eval n Rabieson eno ens

xEpoegas Manguipas. Isoiza 19

Va = Max min Aig
i j

kal oromogene hazw epi to naixudioi.

-> 620ixsie
: nave

·

N
I

200 A 200 I
v

.
= mex min.O G= &

L

6T90c. I enggae .
Tor E

minKao9 Jeepurs

Max ano arra ca
L

Stay dia

H sigempiari nor Efaopabije env Va orotiafinal
maxmin Gigaungiari .



Ve = min Max Aij= min (omin (Aij)) = -max min [Ai)
min Aij = -max(Aij)
Max Aij = -min 7Aij)

Opispos
H minmax nangrpin Eine n Xeporaen eno ent

Kabie9qas Mangan as To I
, jee van n

ereioden ens Kabiegns er zet Xagozg 25 nanpunis
To I

.

Esoiza ME
ve = minmax Aij Ka Kabeiza

j ↓

Aver enteri too maxuiao .

2 = Min Max Aij
> none .

Ton

~
-

-

8 I

⑧ O- 3 -
Gigaz

-

62002.
For I

200I -

Max 104 Gardne

-
min zwr Staxcivr nor Genkof

It Gigeangian nor Efespobija Enr arm upri orajica
minmex Gigangiun .

Yea↳minmet
O- 1i *- eO 2

*

2 = Va

I - I

=

- S

3

2 = Va ELI : (S
,
til

-EVe = max min Aij = 2 nangwp is 12
.

2)
/

i I

in max Aij = 2
~2 = M

j i

Vi =V2 = 2



->

minmet

notesite e -amaxmin - 2
*

Vz = - 2
--

& - 3

5 &
+

vz = &

Jar
uniqxa 2E1

.

Vi = Max min Aij
i ·

V2 = min max Aug
j i

Vn < Vz

-pape
Nia 1984 nanegasiro raigo providi aspoisaco

& Meleior Logiar la reganatio :

InVa = Va

(v( Yaya [11 69 nateess sideinylu is ave

VI = V2 kar avto avastapei sus maxmin kar

minmex Gigangin is
.

link
. An ea neodis Giampmir (5

,
7) kan (s;El

civa 128
,
eves hai ea (SE) va (5, t) Eive

1

2Sl
.

livi Obe To 195 <your :Nic Nangupis.



Rega Eypa
Ougorje To napanazu naigno puevikoi atpoispazs
2 nauzion

minmet
DR

·mexmin ->O 8 & &
*

g O -
7 4 = Va

g I - 2 - 2

g o 4
*

4 = V2

V1 = Vc = & => 7 [12
,

-(4
,
R)

pa nangur as (4, -4)

La Meinzis Stemglus

Go Sucntivo : Conservative approach

-eipon 1:02 Meinent <xse 2 Sigaznyluis .

Toes 0. Malueis Steemingt too I Eval

4 = ( ,
1 - 4) ,P sexa,

a pencas steamfinit
To I Eiva

q = 19
,
1-9) , qe

50
,
27.

arou

Opiforps ,
need

-

We = MaxKaew apn 69 Releas : NNz minh = (p
,
q)

O ·
Si

P

Geqa
- con I

-> Gtagan. En I



·
Galeriearro experi 69 Rameir :

= min Mex ha(p ,q)
O P

sigen.I
&

=> 6i9.

Tor I

Magassyme

· *

2= Un
2 vacv => 225

I I 64 nofle :5

-
Ve = 3

Ga
gajo 69 Meas .

Da unobogion ta Wa
,

Wa

We = max minha (p , q) 9 E↑ q
-

iMovice Obu--unodosion &

zo minhelp , 9) 1 - P I 3

a

&
Opus help,q = qh = (p ,

tu) + (1-g(h= (p
,

tz)
-

indein to help, L Given vogios surfraspos e&

ha(p
,

ti) mas he (p ,

ta
· 'Aga naiqua epis

average se he(pte) was he (p,ta).
O ni

min h= (p ,
9) = min [h1(p ,

zo)
,ha(p ,

tal]
a

Oriza Osdops n

-



We =

max min help ,
9) =

max min[hm(p ,
ti)

,help ,
Ale

= Max min [p . 4 +(1 -p)1 , p
2 + (1p) .33

P

=

mex min[1
+ 3 p ,

3 - i
I 3

·Exafiaj a cutiypappa eurimaza nor Sino

Ent Rbaquife at

· Exadiaga en reammi no Siva to adayomo-
·

Beisua zo max new ou keeper.

· Beisz zuv Wa

4 & 1+ 3p

3.
To

p
*

beigazan senv

W -> e--......... L

2s * Enr zar
&+3p , 3-p- 1 +3p = 3 -pCe

& > 4p = 2 C=b

p=
O px I P N =

z--
go p

*

w = 1 + 3 .t=
It maxmin Gigamperi to I given n (p,1 - pt) =(tit

reaDa undogiaqea so mi ·

a
n

We = min max he (p ,9) =
&

9 ↑ 3

min mex [ha(s,q) ,

he (52
,
q))

e

min mex &q . 4 + (1-9) . 2
, q

. 1 + (1-9) .3)
&



-min Max [2+ 29 , 3-2

· Exacajo za Entire optio puripate non avashaxoiv

627 Mosquite 5
.

·Exedefe en Garl n nos Siva co Maximum zura

Ertigator eunferm

· Beisuw To min Mere 69 averi en Jeantimi .

· beisey inv We
,

L 2 + 29

*& A T//

- -

= Beiguw 3
*

ano zuv con*

-
--3 - -

-
-------We · For 928· <Mrs.2
.

· -
3-29

L

L

i
*

2 + 29
= 3 -29(=>

* * 7
O qx ↓ e &a

=

ei

'Hee
, q

*=

ka Wa =
2 +2 = =

It minmax Gedenyin to I Siva n (*
,
1 - 9 = If ,E

Magaengaite & ser W = Wa
.

To 21 l 62 Usinziz Eival zo

W
#((p

,

1 - p
*)

, (q*,1-
*) = ((E)

,Tell-

Mexmin

se minie



· Enpape
Via vioE managespiro neigro Musavivai aspoisters

ME 2 neiness loxior ea anodorfai

(i) W = Wa : Envi neigrio 69 paints
Lik To

neogis (E
, q) nor nauxaira zau umri zo

neiXvidion Given 22].

Livi Ar CoI was (f' ,
I'l Gives [21

,

2014 her
- q

(8' ,q) ,
11

,q Eivel 12].

(iv) Obe ze 211 Sivor as 15195 nonquis .

TaeaGaypa (nivance 2xn
,
no2)

⑦ Ergoite & - raigro panfrimoi afgoispazo :

minmax
->

Minkex

-↳ L &

I ⑳ O

-
,

t t

maxmin ->G 6 S 3 S 3
*

3 = V2
& 2 6 & I

* *

6 S 6 5

Va = 5

Va < v 2 => E [22 69 Kateg :5
.

De Opoin [21 69 M21795.

EquivaleE ens inr Wa

O . Usueas Gigapes to I
,

give, q=( ,1-p)-
> 37 3

Too II
,

Even &
= (91 92, 93 ,ga
Ma 9.+ 12 + pstq=f

wa = max minhe)p,
P q

= mex min Eha(p
,

te)
,

he (p ,

tal
,
ha (Pty)

,
he (p .

ta)]
P



↳jP S

I -PS2
I
↓ 2 6 &

= Max min [p6 +) -p) 1
, p

.
5 + (1 - p) . 2

,p3+ (1-p) . 6
, p

5 + (1-pl .c)
P

-mexmin[1 + Sp ,

2 +3 p ,
6 - 3p ,

4 + p3

· Exeliagu a Eogpappa Purifiere non avenstaxor sut

Noneup si

·

Excrego un reaperi nor Jira no min

· Beisper to max neve 69 over en poppri.

· Beiguw env Wit wa en Maxmin Gigangin .

&

x+8 !
2

G

C

Wh &
· -2+3 P

Beigeo zo p
*

ano ur conn
3. ·

6-30·
p

2

- For 6-3p ma 2 +3p*

>
6 -3p = 2 +3p(= 4 = Gp(

p = -

p
+

=

2

3

maxmin Gigamyleri :

(p
* (-pt) = ( -5)

d

·

E

wa = 6 - 3 5 = 4

Gboufc va Oops enr Wa Va Env minmax

otgaanyimri don E .

Trupijoop Fer We = Wi = 4.

Av
* =If ,

f 22] <q
*

- BR+(p*)
Ano zo resenta &Janapa in o E Ga avemifes Moro env

ta ka inv ta age q = 10 ,,19
,

0

our Exifena ...


